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If × means −, ÷ means +, − means ÷, and + 

means ×, then what will be the value of the 

following expression?

यदि × का अर्थ −, ÷ का अर्थ +, − का अर्थ ÷ और + का

अर्थ × हो, तब दिम्नदिखित वं्यजक का माि क्या होगा?

125 - 25 ÷ 4 + 25 × 4 + 10 = ?

a) 68

b) 62

c) 70

d) 65

….



Find the next number in the series.

120, 295, 525, 810, 1150, ?

श्रंििा में अगिी संख्या ज्ञात करें।

120, 295, 525, 810, 1150, ?

a) 1544

b) 1550

c) 1545 

d) 1554

…



Select the option that is related to the fifth letter-

cluster in the same way as the second letter-cluster 

is related to the first letter-cluster and the fourth 

letter-cluster is related to the third letter-cluster.

उस दिकल्प का चयि करें जो पांचिें अक्षर-समूह से उसी

प्रकार संबंदित है जैसे िूसरा अक्षर-समूह पहिे अक्षर-समूह से

और चौर्ा अक्षर-समूह तीसरे अक्षर-समूह से संबंदित है।

FRANCE ∶ QEZMDB ∶∶ DEMAND ∶ DCLZCM ∶∶
PRINCE ∶ ?

a) QORMDB

b) OQHMDB

c) QOHMDB

d) QOMHDB

…



Six persons, Vinay, Madhav, Nilesh, Sagar, Arvind, 

Rajesh are standing in two rows facing towards each 

other such that three persons are in a row.

1) Nilesh between Arvind and Sagar.

2) Nilesh is not facing Vinay.

3) Madhav is facing Arvind.

What is Rajesh's position?

छह व्यखि, दििय, मािि, िीिेश, सागर, अरदिंि, राजेश िो

पंखियो ं में एक िूसरे की ओर इस प्रकार िडे हैं दक तीि व्यखि एक

पंखि में हैं।

1) िीिेश, अरदिंि और सागर के बीच है।

2) िीिेश, दििय की ओर समु्मि िही ं है।

3) मािि, अरदिन्द की ओर समु्मि है।

राजेश की क्या खथर्दत है?

a) Facing towards Vinay  /  दििय की ओर समु्मि

b) Between Vinay and Madhav /  दििय और मािि के बीच

c) Between Vinay and Arvind  /  दििय और अरदिंि के बीच

d) Facing towards Sagar /  सागर की ओर समु्मि
..



Select the odd letter group from the 

given options.

दिए गए दिकल्पों में से दिन्न अक्षर समूह का

चयि करें।

a) KQW

b) EKQ

c) OUA

d) GMR

….



Select the letter-cluster from among the 

given options that can replace the 

question mark (?) in the following 

series.

दिए गए दिकल्पों में से उस अक्षर-समूह को

चुदिए जो दिम्नदिखित श्रंििा में प्रश्निाचक दचह्न

(?) को प्रदतथर्ादपत कर सकता है।

SRQ, PON, ?, JIH, GFE

a) MLK

b) LKM

c) KLM

d) MKL
.



Select the option that represents the correct 

order of the given words as they would appear 

in an English dictionary.

उस दिकल्पका चयि करें जो दिए गए शब्ों के सही

क्रम को िशाथता है दजस प्रकार िे एक अंगे्रजी शब्कोश

में दििाई िेंगे।

1. Frame 2. Friction 3. Fraction

4. Freight 5. Fragile 6. Freedom

a) 2, 3, 5, 1, 6, 4

b) 3, 5, 1, 4, 6, 2

c) 3, 5, 6, 1, 4, 2

d) 3, 5, 1, 6, 4, 2

….



When the given figure is folded to form a box, 

which face CANNOT be adjacent to the face 

with R?

जब िी गई आकर दत को मोडकर एक बॉक्स बिाया जाता

है, तो कौि सा फिक R िािे फिक के आसन्न िही ं हो

सकता है?

a) S

b) T

c) U

d) P

..



In a certain code language, ‘MOUNTAIN’ is 

written as ‘MUOTNIAN’ and ‘SQUIRREL’ is 

written as ‘SUQRIERL’. How will ‘VICTORIA’ be 

written in that language? 

एक दिदित कूट िाषा में, 'MOUNTAIN' को

'MUOTNIAN' के रुप में दििा जाता है और

'SQUIRREL' को 'SUQRIERL' के रुप में दििा जाता

है। उस िाषा में ‘VICTORIA’ को कैसे दििा जाएगा?

a) IVTCROAI

b) VCIOTIRA

c) IVCTROIA

d) AIROTCIV

..



Four words are given, three of which are 

similar in some way and one is different. 

Choose odd words.

चार शब् दिए गए हैं, दजिमें से तीि दकसी प्रकार से

समाि हैं और एक दिन्न है। दिन्न शब् को चुिें।

a) Song  /  गीत

b) Actress  /  अदििेत्री

c) Musician  /  संगीतकार

d) Singer  /  गायक

.



Statements:

A. All pots are coals.

B. All coals are rounds.

C. All rounds are stones.

Conclusions:

I. All pots are stones.

II. All stones are coals.

III. All rounds are pots.

IV. All coals are stones.

a) All the conclusions follow  / सिी दिष्कषथ अिुसरण करते हैं

b) Only conclusions I and IV follow  /  केिि दिष्कषथ I और IV अिुसरण करते हैं

c) Only conclusions II and III follow  /  केिि दिष्कषथ II और III अिुसरण करते हैं

d) Only conclusions I and II follow  /  केिि दिष्कषथ I और II अिुसरण करते हैं

कर्ि:

A. सिी बतथि कोयिे हैं।

B. सिी कोयिे राउंड हैं।

C. सिी राउंड पत्थर हैं।

दिष्कषथ:

I. सिी बतथि पत्थर हैं।

II. सिी पत्थर कोयिे हैं।

III. सिी राउंड बतथि हैं।

IV. सिी कोयिे पत्थर हैं।

..



Six friends Sandhya, Kanika, Jayant, Vinayak, Priyanka 

and Anshu are sitting around a circular table, facing 

away from the centre. Kanika is sitting immediately to 

the right of Anshu. Only Vinayak is sitting between 

Anshu and Priyanka. Sandhya is sitting immediately to 

the left of Priyanka.

Who is sitting immediately to the right of Kanika?

छह दमत्र संध्या, कदिका, जयंत, दििायक, दप्रयंका और अंशु एक

िरत्ताकार मेज के चारो ओर, कें द्र से बाहर की ओर मुि करके बैठे हैं।

कदिका, अंशु के ठीक िाएँ बैठी है। अंशु और दप्रयंका के बीच केिि

दििायक बैठा है। संध्या, दप्रयंका के ठीक बाईं ओर बैठी है।

कदिका के ठीक िाएँ कौि बैठा है?

a) Jayant  /  जयंत

b) Sandhya  /  संध्या

c) Anshu /  अंशु

d) Priyanka  /  दप्रयंका

.



'A + B' means 'A' is the sister of 'B'.

'A @ B' means 'A' is the wife of 'B'.

'A $ B' means 'A' is the son of 'B'.

'A % B' means 'A' is the mother of 'B'.

What is the relation between 'S and P' in the given 

expression "P @ Q $ R % S + O"?

'A + B' का अर्थ है 'A', 'B' की बहि है।

'A @ B' अर्ाथत 'A', 'B' की पत्नी है।

'A $ B' का अर्थ है 'A', 'B' का पुत्र है।

'A% B' का अर्थ है 'A', 'B' की माता है।

दिए गए वं्यजक "P @ Q $ R % S + O" में 'S और P' के बीचक्या

संबंि है?

a) Sister  / बहि

b) Brother  /  िाई

c) Sister-in-law  /  ििि

d) Brother-in-law  /  िेिर

..



Select the correct combination of mathematical 

signs to sequentially replace the *signs and to 

balance the given equation.

गदणतीय दचह्नो ं के उस सही संयोजि का चयि कीदजये

जो * दचह्नो ं को क्रदमक रूप से प्रदतथर्ादपत कर सकता है

और दिए गए समीकरण को संतुदित कर सकता है।

(279 * 9) * 46 * 24 * (13 * 3)

a) ÷, =, +, +, −

b) −, ×, =, −, ÷

c) ÷, =, +, −, ×

d) ×, =, −, ÷, −

...



In a certain code language, ‘ONE’ is coded as 

‘12-26-66’ and ‘TWO’ is coded as ‘7-8-36’. How 

will ‘SIX’ be coded in that language?

एक दिदित कूट िाषा में, ‘ONE’ को ‘12-26-66’ के रूप

में कूटबद्ध दकया जाता है और ‘TWO’ को ‘7-8-36’ के

रूप में कूटबद्ध दकया जाता है। उस िाषा में ‘SIX’ को

दकस प्रकार कोत्ब्द्द्ध दकया जायेगा?

a) 19-18-72

b) 8-36-18

c) 38-9-72

d) 38-18-48

..



Find the missing term in the series.

श्रंििा में िुप्त पि ज्ञात कीदजए।

600, ?, 300, 100, 25, 5

1)  500

2)  400

3)  600

4)  200

…



Find the missing term in the series.

श्रंििा में िुप्त पि ज्ञात कीदजए।

600, ?, 300, 100, 25, 5

1)  500

2)  400

3)  600

4)  200

…



Select the option that is related to the fifth 

letter-cluster in the same way as the second 

letter-cluster is related to the first letter-cluster 

and the fourth letter-cluster is related to the 

third letter-cluster.

उस दिकल्पका चयि कीदजये जो पाँचिें अक्षर-समूह से

उसी प्रकार संबंदित है जैसे िूसरा अक्षर-समूह, पहिे

अक्षर-समूह से और चौर्ा अक्षर-समूह, तीसरे अक्षर-

समूह से संबंदित है।

PGX : KBC :: SOH : HJS :: WBT : ?

a) WGD

b) DWG

c) DDG

d) DGW

..



If ÷ means addition, × means subtraction, 

+ means multiplication and − means division 

then

यदि ÷ का अर्थ जोड है, × का अर्थ घटा है, + का अर्थ गुणा

है और - का अर्थ िाग है तो

40 − 20 + 6 × 2 ÷ 5 = ?

a) 13

b) 16

c) 14

d) 15

….



A # B means ‘A is the Brother of B’

A @ B means ‘A is the daughter of B’

A & B means ‘A is the husband of B’

A % B means ‘A is the wife of B’

A # B का अर्थ है 'A, B का िाई है'

A @ B का अर्थ है 'A, B की पुत्री है'

A & B का अर्थ है 'A, B का पदत है'

A % B का अर्थ है 'A, B की पत्नी है‘

If L # M @ P # Q & Z, then how is Q related to L?

यदि L # M @ P # Q & Z, तो Q, L से दकस प्रकार संबंदित है?

1) Brother’s son / ितीजा

2) Husband / पदत

3) Father’s brother / दपता का िाई

4) Brother

…



Select the correct combination of mathematical 

signs to sequentially replace the* sings and to 

balance the given equation.

दिए गए समीकरण को संतुदित करिे के दिए * दचन्ो ं

को क्रदमक रूप से बिििे के दिए गदणतीय दचह्नो ं के

सही संयोजि का चयि कीदजए।

25 * 5 * 10 * 2 * 4 * 3

a) -, +, ÷, ×, =

b) ×, ÷, -, +, =

c) ÷, ×, +, -, =

d) ÷, -, +, ×, =

….



Select the combination of letters that when 

sequentially placed in the blanks of the given 

series will complete the series.

अक्षरो ं के उस संयोजि का चयि कीदजये दजसे िी गई

श्रंििा के ररि थर्ािो ं में क्रदमक रूप से रििे पर

श्रंििा पूरी हो जाएगी।

S T _ _ S _ M Z _ T M Z S _ _ Z

a) T S T S Z M

b) M T S Z T M

c) M Z T S T M

d) M Z T S Z M

…



Select the combination of letters that when 

sequentially placed in the blanks of the given 

series will complete the series.

अक्षरो ं के उस संयोजि का चयि कीदजये दजसे िी गई

श्रंििा के ररि थर्ािो ं में क्रदमक रूप से रििे पर

श्रंििा पूरी हो जाएगी।

S T _ _ S _ M Z _ T M Z S _ _ Z

a) T S T S Z M

b) M T S Z T M

c) M Z T S T M

d) M Z T S Z M

…



A paper is folded and cut as shown. How will it 

appear when unfolded?

एक कागज को मोडा जाता है और दििाए गए अिुसार काटा

जाता है।कटे हुए कागज को िोििे पर यह कैसे दििाई िेगा?

1) 2)

3) 4)




